

Health concerns of male and female farmers: implications for health promotion planning

Wilfreda E. Thurston, PhD

Heather Jo Blundell-Gosselin, RN, MSc

Ardene Robinson Vollman, RN, PhD

CJRM 2003;8(4):239-6

[[résumé](#)]

See related article, [page 247](#).

Farming is a dangerous occupation, and the need for effective health promotion programs for farmers has long been recognized. Canadian policymakers have also recognized the imperative for a better understanding of rural health needs. This article presents data from a non-clinical random survey conducted as a needs assessment in south central Alberta. The study was designed to gain a better understanding of farmers' views regarding agricultural health and safety issues. The results indicate that while farmers report generally good health, they experience a number of farm-related injuries and illnesses. In many cases, they worry more about the effects of farming on the health of family members than on their own health. Farmers vary in age, education, income and off-farm employment. Male and female farmers differ in important ways. The variation among farmers and in the types and sizes of farms, and the different needs farmers may have from their other rural neighbours or those who live in rural towns, points to the need for health promotion processes that incorporate this diversity.

L'agriculture est une occupation dangereuse et on reconnaît depuis longtemps le besoin de programmes efficaces de promotion de la santé à l'intention des agriculteurs. Les responsables des politiques au Canada reconnaissent aussi qu'il est impératif de mieux comprendre les besoins reliés à la santé rurale. Cet article présente des données tirées d'un sondage aléatoire et non clinique d'évaluation des besoins dans le centre-sud de l'Alberta. L'étude visait à aider à mieux comprendre les opinions des agriculteurs au sujet des questions de santé et de sécurité en agriculture. Les résultats indiquent que même si les agriculteurs se disent en général en bonne santé, ils sont victimes de nombreux traumatismes et maladies reliés à l'agriculture. Dans nombre de cas, ils s'inquiètent bien plus des effets de l'agriculture sur la santé des membres de leur famille que sur la leur. Les

agriculteurs varient selon l'âge, l'éducation, le revenu et l'emploi non agricole. Les agriculteurs et les agricultrices présentent des différences importantes. La variation entre agriculteurs ainsi que type et grosseur des fermes, ainsi que leurs différents besoins par rapport à leurs voisins ruraux ou aux habitants des villes rurales, indiquent que les mécanismes de promotion de la santé doivent tenir compte de cette diversité.

Introduction

There is a lack of data on health needs of rural residents.^{1,2} Farmers make up one sub-population of the rural population; a group that faces high rates of occupationally related injuries and illnesses. Farming as an occupation is one of the most dangerous in terms of injury and death.³⁻⁶ In addition to health consequences of injury, there are health risks associated with farming, such as respiratory problems,⁷ skin cancer,⁸ depression⁹ and suicide.⁶ These risks extend beyond the person designated as the farmer to farm hands and family members.^{10,11} In fact, the farm is usually both a workplace and a home. Hence, programs to prevent injury and ill health among members of farm families, particularly farm children, are common.¹² However, programs for health promotion are needed not only to prevent illness and injury but also to maintain wellness and quality of life.

The 1990s brought a renewed interest in programs to prevent injuries that occur on farms.¹² Assessment of the dangers inherent in farm work is usually based on data concerning mortality or injuries requiring medical attention and/or hospitalization. However, in most countries agriculture is not covered by occupational health and safety or workers' compensation legislation,^{3,4,13} and therefore data are difficult to obtain. Further, both farmers and health professionals tend to under-report farm-related injuries and illnesses in health settings.⁴

Racher¹⁴ reports that access to health care services is a priority for the residents of rural communities:¹⁵⁻¹⁷ "... rural residents experience decreased availability of health professionals;^{18,19} [there is] limited proximity to hospitals and emergency services;²⁰ [including] challenges in receiving public health²¹ and mental health services,^{22,23} difficulty in acquiring home care and long-term care,²⁴⁻²⁶ and problems in ensuring that rural services provide quality care.²⁷" Under these circumstances, the need for health promotion programs, in addition to those that prevent injury and disease, is evident.

In this article we present the results of a needs assessment conducted in South Central Alberta that was designed to gain a better understanding of farmers' views regarding agricultural health and safety issues. We collected data on the health status, behaviours and concerns of a representative sample of farmers. Here, we discuss the data concerning individuals; data describing the farms is as yet unpublished.

Method

A cross-sectional survey using mailed questionnaires was conducted between January and March 1994. The sampling frame of 3834 self-identified farmers was drawn from the Farm Business Communications List Service Group, a business that compiles names of people from magazine subscription lists for marketing purposes. These farmers resided in 1 of 4 municipalities or 3 counties in South Central Alberta surrounding the city of Calgary. A random sample of 600 farms was drawn from this frame using random number tables. Because 88.1% of farms in Alberta were reported to have joint male and female operators,²⁸ two identical surveys with the same identifying code, marked Participant A and Participant B, were sent to each address.

A 78-item self-administered questionnaire was developed using the Farm Family Survey,^{29,30} the Canadian Health Promotion Survey,³¹ the Western Canada Melanoma Study³² and a survey of the Alberta Cancer Board.³³ Questions regarding demographics, farm characteristics, personal health habits and concerns, and sources of assistance were also included. The questionnaire was pre-tested on 6 farmers from another region of the province and then reviewed by a group of stakeholders.* These questionnaires were not included in the final analysis. This group commented on relevance, face validity and clarity. Finally, the questionnaire was edited to include interesting graphics and words of encouragement.† The initial mail-out was followed one week later by a reminder postcard, and at 4 and 8 weeks by two subsequent mail-outs to non-respondents. The timing of the survey was selected to avoid known peak production periods (e.g., seeding, harvest, calving).

[*Health unit personnel and board members, farmers, Alberta Agriculture Farm Safety personnel, Unifarm, Women in Support of Agriculture, United Farmers of Alberta.]

[†For example: "O.K. You are now three quarters of the way through. Congratulations. Keep going."]

The Conjoint Health Research Ethics Board of the Faculty of Medicine, University of Calgary, Calgary, Alta., approved the study.

Analysis was conducted using SPSS Version 10. Cronbach alpha inter-item reliability coefficients were calculated for 6 sections of the questionnaire: personal health habits (11 items); concerns about health and safety (5); chemical use (3); handling machinery (6); handling grain, feed or bedding (6); and agricultural services (4). The coefficients ranged from 0.66 to 0.96, all considered

Results

Sample

Twelve addresses were dropped from the sample of 600 because they were outside the survey area, duplicates, or on a Hutterite colony. Sixty-two pairs of questionnaires were returned because the address was no longer valid or the addressee was deceased, retired, or not a farmer. From the eligible 526 farms we received 1 or more questionnaires from 375 farms for a return rate of 71.3%. Of these, 28 were refusals, leaving 347 farms and a response rate from farms of 66.0%. We cannot calculate an individual response rate for the 563 individual questionnaires received in total because we have no way of knowing the denominator or how many individual adult farmers were on these farms. There was a tendency for men (81.6%) to complete the Participant A questionnaire.

The participants were 332 men (59%), average age 49.9 years, and 231 women (41%) with an average age of 45.8 years. Ninety-one percent of participants were married. The women tended to be better educated than the men ([Fig. 1](#)). There were 451 children reported to be living on the farms, of which 80 (17.7%) were over the age of nineteen. Of the remaining 371, 76.4% were under the age of 15 years.

The majority of farms were beef (30.0%) or grain (26.6%) farms, with mixed grain and cattle operations the next most common (10.9%). More than half of the farmers (57.4%) reported that between 76% and 100% of their family income was from their farm operation. The most frequently reported income range was between \$50 000 and \$99 000 per year (31.9% of respondents) followed by \$25 000 and \$49 000 (24.7%), and then \$100 000 and \$249 000 (25.7%).

Employment on and off the farm

Among the men, 71.5% labelled themselves as primary managers on these farms, compared to 45.1% of the women. Among women, another 40.5% considered themselves to be co-equal managers and 3.6% assistant managers. Only 20.9% of men labelled themselves co-equal managers.

Women (40.1%) were more likely than men to be employed off the farm (31.7%) and were more likely than men to work in the health and education sectors when they did ([Table 1](#)). Among those who reported off-farm employment, 36.5% of men and 17.8% of women were self-employed; 23.3% of women and 1.0% of men were employed in health care; and 18.3% of men and 7.8% of women were employed in the agricultural industry. Among the women 15.6% had clerical jobs,

but no men did this type of work. Charlebois reported that, although the extra income reduced the financial concerns, off-farm work was a source of stress for farm families where both the man and woman were employed (Maya Charlebois, Faculty of Nursing, University of Calgary, Calgary, Alta: unpublished paper, MN program, 1994).

Health status

When asked to compare their health to that of others the same age, 66.8% of participants rated their health as very good to excellent. Women (69.0%) were only slightly more likely than men (65.4%) to rate their health as Very good or Excellent, and men were more likely than women to choose Good as their health rating (27.7% compared to 24.9% of women); however, there was no statistically significant difference in self-reported health ratings between sexes. When asked to report how many days they were away from work in the last year due to illness, injury or disability, 56.7% of men and 47.5% of women reported no days. The mean number of days off work due to illness, injury or disability was 3.1 for men and 2.5 for women.

With the relatively good health status of the participants, use of medications was also not common, except for over-the-counter pain relievers that were consumed by 83.3% of participants in the past 12 months. Women were significantly more likely than men to report use of antidepressants (women 10.2%; men 2.6%; $p = 0.001$); codeine, morphine or Demerol (women 8.7%; men 4.0%; $p = 0.039$); and over-the-counter pain relievers (women 87.3%; men 80.5%; $p = 0.035$). There was little difference by sex in the use of tranquilizers (women 2.2%; men 1.5%), diet pills or stimulants (women 1.7%; men 1.1%) or sleeping pills (women 6.0%; men 5.2%).

Exercise and smoking

Exercise was defined as vigorous activity not including work activity, and participants were asked how many times a week they exercised on average. Male and female exercise patterns varied, with the majority being infrequent exercisers ([Fig. 2](#)).

Smoking was reported by only 13.6% of men and 14.4% of women, a surprising finding given rates of smoking among Albertans, reported at 29.6% in 1994-95.³⁵ No women over 65 reported smoking; however, more women than men in the 18-34 age group smoked (20% v. 15%). This is a concern because these are critical child-bearing years. In the 35-64 age group 14% of each sex reported smoking.

Concern over the effects of farming on health

Participants were asked to indicate on a 5-point scale how concerned they were for

themselves about several health problems that the literature identified as arising from farming. They were then asked to rate, on the same scale, how concerned they were that farming might contribute to these health problems in their farm family. Women were more likely to report concern over the effect of farming on family health than their own health for all problems except joint problems, although differences were sometimes small ([Table 2](#)). Men were more likely to report being concerned about the potential for hearing loss, eye problems, back trouble and joint problems for themselves than for other family members. This was especially true for back trouble. A significantly greater percentage of women than men reported concern over accident or injury, stress-related problems, and back trouble for their family. Women were generally more likely to report being concerned over the impact of farming on stress-related problems for themselves and their family.

With regard to other concerns about their own health, men and women were similar; however, men were more likely to be concerned about breathing problems and eye problems, and women more likely to be concerned about hearing loss.

Farther on in the questionnaire, participants were asked to indicate if they had experienced a variety of farm-related health problems in the last 2 years and whether medical treatment was sought for the problem. The 3 problems reported most often by men were back injuries, muscle/joint injuries and emotional problems or stress. Among women, the top 3 problems reported were emotional problems or stress, muscle or joint injury, and breathing problems ([Table 3](#)). Men were significantly more likely to report having had eye injuries, severe cuts or bruises, and back injuries than women ([Table 3](#)). The difference in injury rates is more obvious when the rate of specific injuries or illness is examined as a percent of total number for men and women over the previous 2 years ([Fig. 3](#)). About one-quarter of the problems reported by women were emotional problems or stress, and about one-quarter of the problems among men were back injuries.

Men and women reported seeking medical attention for their injuries or illnesses in about equal proportions ([Fig. 4](#)). The top 3 more frequently reported problems for which men sought treatment were eye injuries, back injuries and skin problems. The top 3 problems for which women sought medical treatment were eye injuries, back injuries and muscle or joint injuries. Men were least likely to seek medical attention for emotional problems or stress, and women for severe cuts and bruises. More than twice as many men than women sought medical attention for their severe cuts or bruises. While more men had back injuries, women were twice as likely to report that they had ongoing disability from their back injuries (men 21.2%; women 42.8%; $p = 0.04$). We calculated a relative risk of 2.09 for back injury, which indicated that women who reported having sustained a back injury were twice as likely as men to report ongoing disability from that injury. About 30% of participants reported ongoing disability as a result of having developed breathing problems, and about 15% as a result of emotional problems or stress.

Discussion

These data were originally collected and analyzed in 1994, with secondary analysis completed in 2002; however, the results remain relevant today. If anything, the economic status of Canadian family farms is more precarious than it was 9 years ago, accentuating the concerns that were expressed by farmers at that time. While the data were collected in South Central Alberta, similarities in issues faced by farmers across Canada and the sampling strategies used in this study give us confidence that the results could be applied to other Canadian farmers. The farmers in this survey reported themselves to be in good general health. Their reports were similar to the Health Promotion Survey for Alberta.³¹ Yet, their reported experiences of farm-related health problems in the previous 2 years supports the contention that injury and health problems are frequent and often serious enough to require medical attention.³⁻⁶ Most of these farmers were aware of the risks of farming, a first step in being ready for preventive action. These farmers were worried about respiratory problems⁷ and mental health issues^{6,9} for themselves and the family.^{10,11} The data, however, present other challenges to planners of health promotion interventions for farmers.

Firstly, farmers overall were more worried about the effects of farming on the health of family members than on their own health. There were many young children living on these farms. In addition, a large number of family members, including children, worked on the farms (Thurston WE, Blundell-Gosselin HJ: unpublished observations, 2002). Occupational health and safety messages aimed at the farmer, therefore, may not be addressing the focus of their concern. On the other hand, we were not able to identify in the published literature a program logic model or a planning model for combining occupational and family health. A challenge for health promotion practitioners is to combine theoretical models of the family as setting³⁶ and the workplace as setting.³⁷

The second challenge is gender differences in roles on the farm, experiences of injury and concerns about the effects of farming on health. Some women thought they played a co-equal role but their male partners believed management rested primarily with them. Workplace decision-making is a factor in work satisfaction.³⁷ Women tended to be better educated and were more likely to also work off the farm, a fact that can explain some men's perceptions of the woman's lesser role in farm management. Disagreement over roles can add to family conflict and increase stress levels. It is important from a program planning perspective that key stakeholders be involved and that planners not overlook the role of women as farmers.³⁸

There were important similarities and differences between women and men in their experiences of injuries and health problems. Equal proportions of men and women

experienced breathing problems and they were equally likely to report ongoing disability. Although more men reported back injuries, more women reported ongoing disability as a result of their back injuries. Men and women were equally likely to report emotional problems or stress. This points to the advisability of using sex disaggregated data in needs assessments and planning as a minimum strategy. Gender analysis³⁹ would be a more comprehensive approach to understanding the needs of male and female farmers.

The stress and mental health concerns of farmers raises a larger issue. The fact that 10% of the women reported using antidepressants in the previous year compared to 2.6% of men points to the importance of mental health promotion for farmers, particularly farm women⁴⁰ with attention to orientation of health services and prescribing practices. In fact, the predictors of stress for men and women were found to differ in this study population (see [page 247](#)).⁴¹ The stress that farmers report suggests that health promotion practitioners must have realistic expectations of how much time and other resources farmers can contribute to the planning and delivery of health promotion initiatives⁴² because their input is considered critical.¹ Gerrard's⁴⁰ approach to capacity building addresses this dilemma. She identifies the strengths among the people in a community as well as the challenges they face. The process is iterative and includes needs assessment and developing interest in an issue among community people until cooperation and collaboration in action are achieved.

Finally, the data in this study challenge the major disease prevention agencies to partner with other programs and to shape their health promotion to respond to the concerns of farmers. Specifically, cancer and heart disease were not among the top 5 problems most likely to be a concern for farmers for either their own or their family's health. This is not to say that cancer and heart disease are not rural health problems, but rather that engaging farmers in health promotion may require designing a back injury prevention program that builds the capacity of farmers to prevent cancer or heart disease, rather than starting with those diseases as the focus.

Conclusion

Farms vary greatly in size of operation, type of commodity, income generated, number of employees, and so on. Because of this, we recommend a comprehensive approach to farm health promotion rather than one that treats farms as though the setting itself implies greater homogeneity (Thurston WE, Blundell-Gosselin HJ: unpublished observations, 2002). Similarly, the people on farms vary in many ways, not the least of which may be gendered roles and expectations. While rural living has much to offer in terms of geographical and social benefits to health,⁴³ for farmers there are also ever present threats to health associated with the work. One added stress for farmers is that these threats extend to other family members. The participation of farmers in recommending and designing programs^{1,40} is

essential because their needs may differ greatly from those of other rural neighbours or from those who live in rural towns.

This article has been peer reviewed.

Wilfreda E. Thurston, PhD — Associate Professor, Department of Community Health Sciences; Adjunct Associate Professor, Faculties of Kinesiology and Nursing; Director, Institute for Gender Research, University of Calgary, Calgary, Alta. Heather Jo Blundell-Gosselin, RN, MSc — Occupational Health Nurse, Kelly, Luttmer & Associates Ltd., Calgary, Alta. Arden Robinson Vollman, RN, PhD — Adjunct Associate Professor, Faculties of Nursing and Kinesiology; Adjunct Assistant Professor, Department of Community Health Sciences, University of Calgary, Calgary, Alta.

Competing interests: None declared.

Acknowledgements: We thank the health unit personnel and board members, farmers, Alberta Agriculture Farm Safety personnel, and representatives of Unifarm, Women in Support of Agriculture, and United Farmers of Alberta for their assistance with questionnaire development and support of this project. Michael Vine of Olds College Extension Service, Red Deer, Alta., did an exemplary job in questionnaire layout and design. Kathy Dirk provided copy editing. We also thank the reviewers for their feedback.

Research was partially funded by the Southern Occupational Health Service, Department of Community Health Sciences, University of Calgary; the Regional Centre for Health Promotion and Community Studies at the University of Lethbridge; and the Alberta Association of Registered Nurses.

Reprints or correspondence to: Dr. W.E. Thurston, Associate Professor, Department of Community Health Sciences, Faculty of Medicine, University of Calgary, 3330 Hospital Dr. NW, Calgary AB T2N 4N1

References

1. Watanabe M, Casebeer A. Rural, remote, and northern health research: the quest for equitable health status for all Canadians. Report of the Rural Health Research Summit; 1999 Oct 23-25. Prince George (BC): University of Northern British Columbia; 2002. p. 3-46.
2. Health Canada. Rural health: frequently asked questions. Available: www.hc-sc.gc.ca/english/ruralhealth/faq.html (accessed 2003 Sept 18).
3. Jones ML, Reynolds SJ, Burmeister LF, Lewis MQ, Whitten PS, Scarth RD,

- et al. Application of a subjective health and safety rating system to Iowa farm operations. *Appl Occup Environ Hyg* 1999;14(12):852-67.
4. Hope A, Kelleher C, Holmes L, Hennessy T. Health and safety practices among farmers and other workers: a needs assessment. *Occup Med (Lond)* 1999;49(4):231-5.
 5. Fragar L. Policy issue. Agriculture health and safety in Australia. *Aust J Rural Health* 1996;4(3):200-6.
 6. Pickett W, King WD, Faelker T, Lees REM, Morrison HI, Bienefeld M. Suicides among Canadian farm operators. *Chronic Dis Can* 1999;20(3):105-10.
 7. Kronqvist M, Johansson E, Pershagen G, Johansson SG, van Hage-Hamsten M. Risk factors associated with asthma and rhinoconjunctivitis among Swedish farmers. *Allergy* 1999;54(11):1142-9.
 8. Reding DJ, Krauska ML, Lappe KA, Fischer VV. Cancer education interventions for rural populations. *Cancer Pract* 1994;2(5):353-8.
 9. Scarth RD, Stallones L, Zwerling C, Burmeister LF. The prevalence of depressive symptoms and risk factors among Iowa and Colorado farmers. *Am J Ind Med* 2000;37(4):382-9.
 10. Gladen BC, Sandler DP, Zahm SH, Kamel F, Rowland AS, Alavanja MCR. Exposure opportunities of families of farmer pesticide applicators. *Am J Ind Med* 1998;34(6):581-7.
 11. Reed DB, Claunch DT. Nonfatal farm injury incidence and disability to children: a systematic review. *Am J Prev Med* 2000;18(4S):70-9.
 12. DeRoo LA, Rautiainen RH. A systematic review of farm safety interventions. *Am J Prev Med* 2000;18(4S):51-62.
 13. Voaklander D, Belton K, Menon M, Lim G, Schopflocher D. Agriculture-related injury in Alberta. *Inj Control Alberta* 1999;2(1):1-4.
 14. Racher FE. Accessing health services: the experience of elderly rural couples [dissertation]. Calgary (AB): University of Calgary, Faculty of Graduate Studies, Dept of Nursing; 2001.
 15. Horner SD, Ambrogne J, Coleman MA, Hanson C, Hodnicki D, Lopez SA, et al. Traveling for care: factors influencing health care access for rural dwellers. *Public Health Nurs* 1994;11(3):145-9.
 16. Joseph A, Phillips D. Accessibility & utilization: geographical perspectives on health care delivery. New York: Harper and Row; 1984.
 17. Nemet GF, Bailey AJ. Distance and health care utilization among the rural elderly. *Soc Sci Med* 2000;50(9):1197-208.
 18. Lavalley DJ, Crupi CD. Rehabilitation takes to the road. *Holist Nurs Pract* 1992;6(2):60-6.
 19. Merwin E, Goldsmith H, Manderscheid R. Human resource issues in rural mental health services. *Commun Ment Health J* 1996;31(6):525-37.
 20. Chiasson PM, Roy PD. [Role of the general practitioner in the delivery of surgical and anesthesia services in rural western Canada.](#) *CMAJ* 1995;153(10):1447-52.

21. Bavington B. Rural public health. *Can J Public Health* 1994;85(5):295-8.
22. Blank MB, Fox JC, Hargrove DS, Turner JT. Critical issues in reforming rural mental health service delivery. *Commun Ment Health J* 1995;31(6):511-24.
23. Neese JB, Abraham IL, Buckwalter KC. Utilization of mental health services among rural elderly. *Arch Psychiatr Nurs* 1999;13(1):30-40.
24. Coburn AF, Bolda EJ. Rural elders and long-term care. *West J Med* 2001;174(3):209-13.
25. Kenney GM. Is access to home health care a problem in rural areas? *Am J Public Health* 1993;83(3):412-4.
26. Magilvy JK, Congdon JG, Martinez R. Circles of care: home care and community support for rural older adults. *Adv Nurs Sci* 1994;16(3):22-3.
27. Moscovice I, Rosenblatt R. Quality-of-care challenges for rural health. *J Rural Health* 2000;16(2):168-76.
28. Trends and highlights of Canadian agriculture and its people. Rep no 96-303E. Ottawa (ON): Statistics Canada; 1991.
29. Donham KJ. Prologue. Agricultural occupational and environmental health: policy strategies for the future. *Am J Ind Med* 1990;18:103-19.
30. Kendall T, Donham KJ, Yoder D, Ogilvie L. The farm family perception of occupational health: a multistate survey of knowledge, attitudes, behaviors, and ideas. *Am J Ind Med* 1990;18:427-31.
31. Stephens T, Fowler G, editors. Canada's health promotion survey 1990. Tech rep no H39-263/2-1990E. Ottawa (ON): Health and Welfare Canada; 1993.
32. Elwood JM, Gallagher RP, Hill GB, Pearson JCG. Cutaneous melanoma in relation to intermittent and constant sun exposure: the Western Canada melanoma study. *Am J Ind Med* 1985;18:413-9.
33. Campbell HS, Birdsell JM. Knowledge, beliefs, and sun protection behaviors of Alberta adults. *Prev Med* 1994;23(2):160-6.
34. Streiner DL, Norman GR. Health measurement scales: a practical guide to their development and use. New York: Oxford University Press; 1989.
35. Foreman G. Tobacco reduction report: an environmental scan and operational plan. Red Deer (AB): David Thompson Health Region; 2000. Available: www.dthr.ab.ca/news/TobaccoReport.pdf.
36. Soubhi H, Potvin L. Homes and family as health promotion settings. In: Poland BD, Green LW, Rootman I, editors. *Settings for health promotion: linking theory and practice*. Thousand Oaks (CA): Sage Publications; 2000. p. 44-67.
37. Polanyi MFD, Frank JW, Shannon HS, Sullivan TJ, Lavis JN. Promoting the determinants of good health in the workplace. In: Poland BD, Green LW, Rootman I, editors. *Settings for health promotion: linking theory and practice*. Thousand Oaks (CA): Sage Publications; 2000. p. 138-60.
38. Patton MQ. *Utilization focused evaluation: the new century text*. Beverly Hills (CA): Sage Publications; 1997.
39. Horne T, Donner L, Thurston WE. *Invisible women: gender and health*

planning in Manitoba and Saskatchewan and models for progress. Winnipeg (MB): Prairie Women's Health Centre of Excellence; 1999. p. i-103.

40. Gerrard N. An application of a community psychology approach to dealing with farm stress. *Can J Commun Ment Health* 2000;19(2):89-100.
41. Thurston WE, Blundell-Gosselin H, Rose S. [Stress in male and female farmers: an ecological rather than an individual problem](#). *Can J Rural Med* 2003;8(4):247-54.
42. Cleaver F. Institutions, agency and the limitations of participatory approaches to development. In: *Participation: The new tyranny?* London: Zed Books; 2001. p. 36-55.
43. Thurston WE, Meadows LM. Rurality and health: perspectives of women. *Rural Remote Health*. In press.

